GROUP C

TO

TO
ENGINE
BLOCK

CONTACTOR
9

zg/%/ HO—u
R,

N

STARTER

1

Exploded View : EV BATT ACSRY 5.4L G3 W/O BATT

Drawing No. : 0J7828

Revision : -A-

Page 1 of 2

Date : 11/30/11



EXPLODED VIEW: EV BATT ACSRY 5.4L G3 W/O BATT

DRAWING #: 0J7828

GROUP C

ITEM PART# QTY. DESCRIPTION

1 0F3408 1 TRAY BATTERY

2 0F3411 1 STRAP BATTERY RETAINMENT

3 051768 1 SCREW HHC M12-1.75 X 25 G8.8

4 022145 1 WASHER FLAT 5/16-M8 ZINC

5 022195 1 WASHER LOCK 1/2

6 022304 1 WASHER FLAT 1/2 ZINC

7 050331A 1 BATTERY POST COVER RED +

8 050331 1 BATTERY POST COVER BLACK -

9 038804U 1 CABLE BATT RED #1 X 28.00

10 038805Y 1 CABLE BATT BLK #1 X 16.00 NEG

11 045771 1 NUT HEX M8-1.25 G8 YEL CHR

12 022129 1 WASHER LOCK M8-5/16

13 025507 1 WASHER SHAKEPROOF EXT 7/16 STL

14 0F3976 1 BOOT CONTACTOR CABLES

15 0C2454 2 SCREW THF M6-1 X 16 N WA ZIJS

16 042568 2 SCREW HHC M6-1.0 X 20 G8.8

17 022097 2 WASHER LOCK M6-1/4

18 049813 2 NUT HEX M6 X 1.0 G8 YEL CHR

19 058208 RE BATT 12VDC 24F 525 CCA (SOLD AS AN OPTION)
REVISION: -A- Page 2 of 2

DATE: 11/30/11



